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Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the
correct answer to each of the questions from 1 to 7.
Rainforests are disappearing in tropical areas around the world. They are being cut down, burned and
damaged through a process called “deforestation”. This is a serious problem in developing countries
within tropical regions. The impact of deforestation also has vast global implications. It is, therefore,
very important to find solutions to these problems. Unfortunately, progress in this area has been very
slow.
According to World Bank statistics, many developing countries, such as Brazil, Ecuador, and Indonesia
had lost almost half of their rainforests by 1991. Worldwide, in 1800 there were 7.1 billion acres of
tropical forests, while today there are only3.5 billion acres. Recent statistics suggest that an area of
tropical forest larger than North Korea is deforested every year.
Most importantly, the rainforests play an important role in the health of our environment. Trees and other
plants act as filters that clean pollutants out of the air and produce clean air. With air pollutant increasing
as forests decline, the world is facing a potential crisis with regard to air quality.
Poverty is one of the main forces behind deforestation in tropical countries, where many rely on farming
as a way of life. The most practical method is “slash and burn” agriculture, in which a small area of trees
is cut down and then burned to fertilize the soil. For a period of time, the soil can produce good crops, but
rain gradually washes away the nutrients, reducing fertility and causing crops to grow at a slower rate.
Eventually, the soil can no longer support crops, and farmers are often forced to abandon the land.
Government policies also contribute to the destruction of rainforests. In countries like Brazil, much of the
rainforest is owned by the state. However, the state does not have enough resources to control access to
the forests. Therefore, the government allows people to claim area of land within the forest. To do this,
people must clear the land that they want to claim. Small farmers, then, often clear plots and then sell
them. They then move to a new area, clear it, and then sell it again. While this is good for farmers, it is
highly destructive to forests.
Larger companies contribute to their own problems. Logging companies can do a great deal of damage on
their own, but they also cause secondary damage through their effects on small farmers. Often, road
construction companies hired by the government claim land that they clear during their projects, thus
pushing small farmers further into forests. In addition, the government might set low tax rate for
agricultural production. Corporations and wealthy investors buy up lands, and the small farmers are gain
forced to find plots in unclaimed areas of the forests.
The problem of deforestation is strongly affected by poverty in developing countries. Clearly, any long-
term solution to deforestation must focus first on how poverty can be reduced. Any other solution can
only be a temporary measure.
Question 1. The word “ implications” in paragraph 1 is CLOSEST in meaning to

A. events B. scales C. consequences D. damages
Question 2. The author mentions North Korea in paragraph 2 to

A. demonstrate the impact of deforestation in North Korea.

B. demonstrate how much forest is being destroyed each year.

C. demonstrate that deforestation is not as serious as we thought.

D. demonstrate that North Korea policy is favorable to that of Brazil.
Question 3. The word “this” in paragraph 5 refers to

A. burning the forest B. making policies

C. claiming land D. allowing farmers to claim land
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Question 4. According to the passage, why is “slash and burn” agriculture harmful?
A. It can cause forest fires. B. It leaves areas of land infertile.
C. It pollutes the water supply. D. It keeps farmers in poverty.
Question 5. All of the following are mentioned in the passage EXCEPT
A. the role of rainforests.
B. the extent of rainforest destruction
C. the fast food industry clearing rainforests for grazing land
D. the practice of slash and burn agriculture in Brazil
Question 6. From the passage, it can be inferred that
A. deforestation is a serious problem for small farmers.
B. deforestation must be addressed if developing countries are to succeed.
C. deforestation is the main cause of poverty in tropical countries.
D. deforestation is driven by the economy.
Question 7. Which best serves as the title for the passage?
A. Deforestation- A global issue needs to be solved
B. Deforestation- How to prevent it.
C. Rainforests- An essential part of our life.
D. Rainforests- How to protect it.

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the
correct answer to each of the questions from 8 to 12.

The integration of technology in education has revolutionized teaching and learning. Digital tools like
interactive whiteboards, online courses, and virtual classrooms offer new opportunities. One significant
benefit is personalized learning through adaptive software, which tailors content to individual student
needs, keeping them engaged and motivated.

Technology also provides access to vast resources such as online libraries and digital textbooks,
encouraging independent learning and critical thinking. Additionally, digital platforms promote
collaboration and communication, enabling students to work together and teachers to communicate with
students and parents effectively.

However, challenges exist. The digital divide, or the gap between those with and without access to
technology, can exacerbate educational inequalities. Moreover, prolonged screen time can lead to physical
and mental health issues, such as eye strain and reduced attention spans. Balancing technology's benefits
with its potential drawbacks is crucial for creating an effective educational environment.

Question 8. The word “ its” in paragraph 3 refers to

A. attention’s B. balance’s C. technology’s D. environment’s
Question 9. According to the passage, which of the following is NOT the negative effect of technology?

A. Worse educational fairness B. Mental health problem

C. Eye strain D. Bad interpersonal skills

Question 10. Which statement is supported by the passage?
A. Digital platforms facilitate collaboration.
B. Technology replaces traditional methods.
C. Technology only benefits students.
D. Screen time has no impact on well-being.
Question 11. The word “ tailor” in paragraph 1 is CLOSEST in meaning to
A. adjust B. design C. allocate D. adopt
Question 12. Which is the best title for the passage?
A. The Evolution of Traditional Teaching
B. The Role of Technology in Modern Education
C. Overcoming Challenges of Online Learning
D. The Negative Effects of Technology

Read the following passage and mark the letter A, B, C or D on your answer sheet to choose the word
or phrase that best fits each other numbered blanks.
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Cyberbullying is the use of (13) digital platforms to harass, threaten, or embarrass someone.
Unlike traditional bullying, it can happen anytime and reach a large (14) __ quickly. Victims often feel
severe emotional pain, including anxiety, depression, and even thoughts of suicide. The anonymity of the
internet allows bullies to act without facing immediate consequences, making the problem worse. Social
media, messaging apps, and online forums are common places (15) cyberbullying occurs. The
negative effects on victims can include low self-esteem, avoiding social situations, and problems in
school. (16) __ , we need to educate people about its dangers, enforce anti-bullying rules, and promote
kindness and respect online. Parents, teachers, and tech companies should work together to monitor and
address bullying behavior, support victims, and hold bullies (17) . Encouraging open discussions
about online experiences and teaching digital skills can help everyone navigate the internet safely. By
addressing cyberbullying, we can make the online world safer and more welcoming for all.

Question 13. A. another B. each C. every D. some
Question 14. A. audience B. people C. netizens D. users
Question 15. A. when B. which C. who D. where
Question 16. A. Therefore B. Although C. However D. Because
Question 17. A. account B. accountable C. accounting D. accounted

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the

following questions.
Question 18. Using social networks too much may have negative effects students.
A. with B. for C.at D. on
Question 19. Deforestation has devastative floods in many parts of the world.
A. resulted in B. started out C. brought in D. resulted from

Question 20. Contrary to my initial thoughts, the interviewer addressed me with a comfortable
that made me feel relaxed.

A. possibility B. familiarity C. similarity D. probability
Question 21. I will send you some postcards

A. after I had arrived at the destination

B. when I arrived at the destination

C. until I will arrive at the destination

D. as soon as | arrive at the destination

Question 22. Nam hasn’t reached the final on the university to attend after leaving school.

A. decide B. decisive C. decision D. deciding
Question 23. In March 2024, Vladimir Putin as the President of Russia, securing 87.28% of the
vote, according to the official results announced by Russia's Central Election Commission

A. was reelected B. reelected C. was reelecting D. has reelected
Question 24. A military parade and a procession of civil forces over 12,000 people took place to
celebrate the 70" anniversary of Dien Bien Phu victory at Dien Bien stadium last month.

A. gathered B. gather C. to gather D. gathering
Question 25. Japanese are said to have a very high life expectancy.

A A B. The C. An D. @ (no article)
Question 26. We great admiration for his achievements.

A. had B. made C. paid D. took
Question 27. She had a great time during her holiday last month, ?

A. had she B. hadn’t she C. did she D. didn’t she
Question 28. Jack is far at Maths than his brother.

A. the best B. better C. the better D. well

Question 29. The company offered a five thousand - dollar
arrest of the robbers.

for the information leading to the

A. prize B. reward C. award D. present
Question 30. Students tend chatGPT to assist themselves in studying.

A. using B. to using C. use D. to use
Question 31. Good luck talking to the boss, but I think you’ll just be barking at the .

A. star B. sky C. air D. moon
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Question 32. My mother in the kitchen when I got home this morning.
A. cooked B. has cooked C. was cooking D. is cooking

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to
the underlined word(s) in each of the following questions.
Question 33. Sports and festivals form an intergral part of every human society.

A. delighted B. unimportant C. essential D. indispensable
Question 34. The workers have been working round the clock to meet the deadline of the plan.
A. accurately B. continuously C. permanently D. interruptedly

Mark the letter A, B, C, or D to indicate the sentence that best combines each pair of sentences in the
following questions.
Question 35. David did poorly on his final test. He was aware of the importance of hard work.

A. No sooner had David been aware of the importance of hard work than he did poorly on his final test

B. Not until David did poorly on his final test he was aware of the importance of hard work.

C. Only after David did poorly on his final test was he aware of the importance of hard work .

D. Poorly though David did poorly on his final test, he was aware of the importance of hard work.
Question 36. My brother doesn’t play sports. He is often sick.

A. If my brother were sick, he wouldn’t play sports.

B. If my brother played sports, he wouldn’t be sick so often.

C. If my brother plays sports, he won’t be often sick.

D. If my brother weren’t sick, he wouldn’t play sports.

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the
underlined word(s) in each of the following questions.
Question 37. I don’t want to go out, I just want to stay at home and take it easy.

A. enjoy B. relax C. sleep D. sit down
Question 38. The situation was more complicated than they had at first realized.
A. confused B. simple C. complex D. embarrassed

Mark the letter A, B, C, or D to indicate the word that differs from the other three in the position of the
primary stress in each of the following questions.

Question 39. A. carry B. effort C. colour D. protect

Question 40. A. domestic B. important C. negative D. computer

Mark the letter A, B, C, or D to indicate the word whose underlined part differs from the other three in
pronunciation in each of the following questions.

Question 41. A. center B. connect C. cover D. convey

Question 42. A. behave B. matter C. capable D. nature

Mark the letter A, B, C, or D on your answer sheet to indicate the option that best completes each of the
following exchanges.

Question 43. Mrs Brown and Mr Smith are talking about teaching life skills at school.

Mrs Brown: “I think some life skills should be taught to children.”

Mr Smith: “ . They are essential for them.”
A. There is no doubt about it B. You’re quite wrong
C. I’m not sure about that D. I don’t either

Question 44. David and Linda are studying in their classroom.
David: “May I borrow your calculator for a while?”
Linda: “ J
A. Never mind B. Take care C. Certainly D. You are welcome
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Mark the letter A, B, C, or D to indicate the sentence that is closest in meaning to each of the following
questions.
Question 45. It is mandatory for people to check their passports before entering the port.
A. People must check their passports before entering the port.
B. People ought to check their passports before entering the port.
C. People should check their passports before entering the port.
D. People can check their passports before entering the port.
Question 46. “What did you buy for your mother on her birthday?,” Jean asked Mike.
A. Jean asked Mike what he bought for his mother on her birthday.
B. Jean asked Mike what he had bought for his mother on her birthday
C. Jean asked Mike what he had bought for your mother on her birthday.
D. Jean asked Mike what had he bought for his mother on her birthday.
Question 47. It is a long time since I last saw a romantic film.
A. I didn’t see a romantic film a long time ago.
B. I have seen a romantic film for a long time.
C. I haven’t seen a romantic film for a long time.
D. The last time I saw a romantic film a long time ago.

Mark the letter A, B, C or D to indicate the underlined part that needs correction in each of the
following questions.
Question 48. Using the new software, parents will be able to keep track of his children’s
behaviour on the Internet

A. Using B. to keep C. his D. on
Question 49. The current restructuring of the advisable service provides a timely opportunity to address
some of these issues.

A. timely B. current C. address D. advisable
Question 50. My husband usually took the chilren to school every morning.
A. My B. took C. morning D. to
------ THE END ------

M3 dé 201 - https:/thi247.com/ Page 5/5



https://thi247.com/

10 11[12{13[14[15]16[17) 18| 19 [20[21|22[23]| 24 |25|26[27]| 28 |29]|30| 31| 32 |33| 34 |35]|36(37|38[39(40[41]|42|43|44]45[46]|47]48|49|50

213[{4]5[6]7[8]9

1

A{ AJAJA|B|C|A|B]JA|B[B|[A]JA[A]J]A|A|A[A[B]|]A|C|B|B|B|B|C|A|C|B|B[C|D|A]JA|JA|B|C[C|A|D|C|]A|C|A|C|A|A|B|DJA
c|B|C[{B[C|DJA|C|[D|A|J]A|B|D|A[D|A|B|D|A[B[D|C|A|D|B[A|D|B|B[{D|D[fC|B|D|C[B|B|C|D|C[A|B[A[C|[A[B|C|C|[D|B
C/|B|B[A|JC|[A]J]C|D|B|JA[{D|B|{B|D[B|DfA|BfC|[C|B|I[C|A|D|D[A[C[C]J]A|A|B|A|D[A|C|B|C|D|D|[B|D|D[C|C|D[A|D|A[D]|B
A{B|BJ]A|B|D|/D|DJA|B|A|D|Bf{D|C|D|B|fD[C|C|A|B|B|D|D|B|[B|B|J|C|A[A]J]A[B|C|C|A|C|[B[B|A|B|[B]JA]JA|A]A|B[B|B]|B

c|Bc{BfCc|D|C|C|D|B|B|D|AJ]A[D|B]J]A]JA|B|B|[A|C|D[C|[B|[A|B|D|C|{C|B|(B|D|[D|C[{B|D|C|BJC|[D|D|[D|[CJA[C[B|C|B|C
ClA|BfC|D|C|B|J]C|C|C|[BJA[C]A[A|J]C|[C|A|D|A|C|ID|D|A[A[B|D[A|D|D|JA|JC|A|D|B|D|B[A|D|A|D|B|C|D|D|C|[B|C|[C]|A

B|D|D|C|A[C|A|C|B|[C|A|[D|D|JA|[D|C|D|B|B|B|JC|[A[B[C[B|A|D|[A[D|[C|D|A|JC|[A|[C|[C|C|D|C|(B|B|D|(C|[B|J|A[D|[C|B|B|D
D|D|D|(B|[D[C[A|B|J]A[A|B[B|J|A|JC|C|[A[C]A]JA|[A|B|JC[A[C|[C|A|B[A[D|D|B|D|B{A[D|C|[B|DJA[A|C|C|B|D|B|B|[B|B|C|B
Al D[A|BIC|JA[C|D|D|fD|JC|B|JC|D|D|C|C|B|JC|A|B]J]A|J]A[B]JA|C|B]J]A|D[B|JA|JC|D|B|B|B|B|C|{C|B|D[C|B|[D[A|D|D|C|B|A
D|C|B|D|[A[A[A]jC|C|[D|D|C|B|B|A[C|A]JC|D|A|B|C|{D|(B|D|B|C{B|[A|D|D|B|D[{D|[B|JC|[D|A]JC|[D|C|C|B|D|B|D[A]JA|A|B
D|B|C|A[B|[D[C|A|B[A]J]A[C|D|C|C|[C|IC|]A|JC|D|D[A[A[C|[A|B|A[A[B|D|B|A|D[BJC|A[A|D|C|[B|JA|D|C|A|C|D|[C]|C|A|B
AlD|Cc|DfB|BfB|JC|[C|[C|B|B|J]AJ|C|C|B|J]A|]A|J]C|C|D|J|AJ]A[C|]A|D|AJC|C|[A|B|B|A|JC|[D|D|A|D|C|B|JA[B|C|[D[B|JC|C[D|B|C
AfCc|D|B|D|C|D|C|A|D|C|A]JA[A|B|A|[B[C|[A]|]A|D|B|A|D|D|C|B|A|D|B[{A|D|JAJA|D|B|A[B|C|C|B|C|B|A|D|B|C|D|BJA

B|D|B[D|[D|C[B|D|C|[C|B|B|C|B|[|A[D|[B|D|B|B|B|[B|[B[D[A|JC|C|[A[D|(C|D|A|Bf{A[A[B|B|C|C|[A|D|D|[A[B|B[B|[D|C|A]|C
Dl AJA|lA|D|C|D|fB|D|D|B|C|B[{A|D|D|B]J]A|D|D|[D|JA[C|[A|D|JA|D|C[B|C[D|A[A|A|D|C[B|JA[C|A[B[B|B|[C|C|D|B|B|C|B
c{B|C]AjC|B|C|{C|{B|D|A|D|BfC|D|C|D|C|A|D|[C|D|/A|D|B|{D[A]J]A|D|A|B|A[C|D|A|D|A|B[B]JA|B[A|JA|D[B]|A|B[B|[BfC
Bl|C|C|[|C|[B[A[A]|B|A[D|C[D|B]JA|C|[D|B|J|C|A|[B|A[B[B[D|[C|D|D[A[A]JA|C|D|B{C[B|JA[B|BJC|[C|C|A|A|B|A|B|[D]|C|C|B
C{A|B|B|A|D|A|D[B|D|C|DJA|JA|D[AJCI[C]A|B]JA|JAJA|D|[A]J]A]J]A]A|B|C|D|D|B|JC|B[{D|B|[D|JA|B|JA|JC|D|C[B|JC|[C|B|D|B
A{B|D|B|B|DfC|]C|D|Bf{D|(B|D[C|A|B|A[D|[C|B|D|A[(B|D|B|JC|C|C|D|C[{D|D|JA|JC|D|A|D[A]JA|C|C|B|A|A|D|D|[D]|C|C]A
A{D|DJA|JA|A|B|DJA|C|[D|DJA[fC|B|A|Bf{B[D|A|D|B|C|D|C|D|C|A|B|C[D|A[B|C|C|B|DI[C[D|C]J|A[A]JA]JC|C|B|C[A|C]|B
clc|bfc|B[B|D|A|J]A|D[B|C|[A|J]A[A|B|A]J]A[C|[B|B|[D|JA|JC|B[A[A[B]JA|JA|B[BJA[C|D|B|B|D|C|[B|A|B[{A|D|C[B|D|B|[A]|B
D|B|A|A|[D|[D|[A]jC|C|(B|D|[D|D|B|A[{B|{D|B|D|D|JA[D|{C|[D|[B|JA]JA|[D[B|C|D|C|D[B|[A|JC|[A|C|C|[D|C|A|D|A|B|C[D]JA|C|B

D|D|A[B|(B|[D|[B|A|D[B|D|[D|JAJC|[D|[C|[C|D|JA|[D|B|[B|[D[A[B|B|JA[A[A[A|B|A|B|{A[D|[(D|[D|D|C|[A|D|C|[A[D|C|[B|[C|C|D|D
D|B|C|C|B|A|B[|AJC|A|B|B|DfD|{B|J]C|[D|C|A|B[B|A[D|B|B|JA[A]J]A|C|CI[D[A|A[D]JA|C|D|B|A[D[B|D|[B|JC|D[B|C|B|[C|A
D|D|A|B|[B|A[D|B|D[A|J]A[D|D|B|A[D|A|B|B|B|B|BfC|[D|C|C|A|[B|D|C|B|D|C|[{B|[B|JC[B|A|D[C|A|C|B|B|C|C[BJA|A|B

Pé\cau

000
201
202
203
204
205
206
207
208
209
210

211

212
213

214
215
216
217

218
219
220
221

222
223
224




	Ma_de_201
	ĐÁP ÁN
	NGANG
	DỌC
	ĐÁP ÁN TRÊN 1 TRANG


